pH, Acids and Bases Worksheet
1. Find the pH of a 0.15 M solution of HCl.

pH = 0.82
2. What is the pH of a 3.00 x 10 -7 M solution of Nitric Acid.
pH = 6.500
3. What is the [OH-] if [H3O+] is 1.0 x 10-2 M?

[OH-] = 1.0 x 10-12
4. A chemist dilutes concentrated hydrochloric acid to make two solutions: a 3.0 M and a 0.024 M. Calculate the [OH-], [H3O+], pH and pOH of the two solutions at 25°C.
3.0 M solution




0.024 M solution

[OH-] = 3.3 x 10-15



[OH-] = 4.2 x 10-13

[H3O+] = 3.0 




[H3O+] = 0.024

pH = -0.48 





pH = 1.62

pOH = 14.50 




pOH = 12.38
5. What is the [OH-], [H3O+], and pOH of a solution with a pH = 3.67? 

[OH-] = 4.68 x 10-11
[H3O+] = 2.14 x 10-4
pOH = 10.33
